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Today: Questions on 2.6 and do 2.7
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+ 013 points SCalcB 2.7.014, [3354421)

A stone is dropped into a lake, creating a circular ripple that travels outward at a speed of 40 cm/s. Find the rate at which the
area within the circle is increasing after each of the following.
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+ O/ points SCalch 2.8.032. [3426404]

A ladder 10 ft long rests against a vertical wall. If the bottom of the ladder slides away from the wall at a rate of 0.8 ft/s, how
fast Is the angle between the ladder and the ground changing when the bottom of the ladder is & ft from the wall? (That is,
find the angle's rate of change when the bottom of the ladder is & ft from the wall.)
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